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1. A funnel (Fig. 1), whose angle at the outlet is 60° and whose outlet has a
cross-sectional area of 0.5 cm?, contains water. At time 1=0 the outlet is
opened and the water flows out. Determine the time when the funnel
will be empty, assuming that the initial height of water is h(0)=10cn.
From Torricelli's law, the velocity with which a liquid issues from an
orifice is v=0.6/2gh . (20%)
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4. Find the residue at z = 0 of the function {20%)
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Use residues to evaluate the integrals of the following functions around the arcle

|z| = 3 in the positive sense:
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